GENE
Joped the first-known

1.  Johann Gutenberg Ve Y- Which was the

printing press in German o
first book he published in

(1) The Republic

(2) The Bible

(3) The Odyssey

(4) The Magna Carta

What do we call the process through which

bacterial and fungal enzymes degrade

detritus into simpler inorganic substances ?

(1) Catabolism

(2) Humification

(3) Fragmentation

(4) Leaching

3. Students” and Teachers” Holistic
Advancement through Quality Education
(SARTHAQ) is an . :

(1) - Indicative and suggestive NEP
implementation plan for Higher

Education
(2) Indicative and sugges'tive NEPg
implementation plan for School

Education

(3) Indicative and suggestive

implementation plan for Techmcal

(.é_l)l Indicative and suggestive NEP
lmplementatlon plan for

Education
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4. Accordj_ng to

2020, by wiy the National Education Policy | 4.

‘Ch Year the Gross Enrolment
'8h&f “Education including
ducg_ﬁﬁ'ﬁi‘l is to be increased to

Ratio in h
vocational e

50% ? g
g
Ny
(1) 2040 hopit
LD
(2) 2035 g
N
.1
3) 2050 =N
(4) 2030

5. Which team won:;tﬁel?zozg Women T20 World
Cup ? =

(1) Australi

(2) England

(38) South Afri

4) India

6. 'Milpa’, ‘Roca’, ‘Ladang’ are different names

of which of the following ?

(1)

(2) Earthquakei

(3) Rain water hz_i}veshng

(4) Shifting cultivation

EgE
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Srarenfores fae afed ST e & wee T

1 ST 50% Tk TGN, ST h e € ?

(1) 2040

w2y 2035

(3) 2050

(4) 2030
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7. 9 2022 1 WIfEH Teprerd;

T ?
(1) I e fig
2 wufa sy

(3) STA Y 7

«(4) PO g

8.  3fumer (a) :

Asse[‘tion (A) : z

B % e bicameral : .
Both India and*the USA hav . ;:Tﬁ SR .21, SR 31 F g faurea
legislature- ‘ff_’ gl
Reason (R): _: T (R) :

el |
The upper house @ sthe legislature in both the | Kﬁ%ﬁﬁ % fourred % 3= e § sTam-stem
countries has an equal number of seats T % foru e Te) 9 T us 9uE
reserved for different states.

= o 7T Fe & ¥ @ W g

Choose the correct answer from the codes l
below : :

o | 1) (A) 3R (R) I T €

(1) Both (A)Znd (R) are correct

@ A (A)TE R T

(2) A
3) (a) is-cog%fbut (R) is wrong [l /»6/ (A) EE| %W (R) TTed ©

4 (A)is wrong but (R) is correct

HIS-2023 g,%
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9.

10.

PGT-HIS-2023 B8

A1)

(©

Assertion ( A) .

As part of ¢p
Budget, the d:te Major reforms to Union
¢ of budget was advanced to

€ first time from the Budget

for Financia] Year 2020

Reason (R) :

The advgncemént
done to engdb]
cycle. .
Choose the Correct
below 3

Both (A) and
explains ( A)
Neither (4) no;
(A) '
(A)

J of Budget date has been
‘ ®arly completion of the Budget

answer from the codes

(R) are correct and (R)
()
(3)
(4)

_ (R) is correct ™
1S Correct but (R) is wrong
1S Wrong but (R) is correct
Which et

ch of the fOHOng statement(s) is/are
correct about ‘Ingia State of the Forest
Report’ (ISFR) ? |
(A) The first State of the Forest Report was

published in 1947.

(B) The report is based:on the biennial
assessment of India’s forests carried out
by Forest Survey of India (FSI).
Based on the ISFR 2021 report the total
forest cover ofrthe country is 21.71% of
the total geographical area of the
country:

“The ISFR 2021 report.shows a decrease
of forest cover as compared to the

(D)

previous assessment.
Choose the correct answer using the.codles
below :
(1) Only (C) and (D) are correct
(2)~-Only (B) and (C) are correct
(3) Only (A), (B) and (C) are correct

10,
b R it § @ T/ s w2/ 2
I P 5

(4)‘ Only (B), (C) and'(D) are correct .

o

A):
S e 2 o 5 3
n 2020 ¥ wrore TR T { 7Rl A
o7 e o ST A v 1 e P
T
HWT (R) :
o7 sregfe A A wSTE = 9w
o e i @ g PR 8

M g g e & T I IR :

1) (A) @R (R) <K =@ ¥ @i (R) T (8) F
L. T el

(2) A (A) TR (R) T I

(3) (A) = ¥ iR (R) TeTd B 1

A (A) e # iR (R) TR

Ty =~
“gfean e =it T e Fdrd” (1 o, T, 2R, )

(A) Teelt e iR g whee U ad 1947 A

| YehITTd g8 off |

(B)_~ 7% Frdié Tt o T (T . ST, )
BRI fohT TTT ReT o w1 et gedisa
TR 3 1

(C) SRUHTEINR. & 99 2021 =i R &
YR T < ol At &5 1 21.71%
SATESIGd § |

(D) SETHTEIAR. 2021 F Ffaae" H frsa

eI Sl g § arested 9% § o™

ENIRIRICI AR

ﬁ%mw?ﬁﬁﬂﬁﬁmﬁﬁﬁr

L .
i ¥

(1) %@ (C) 8T (D) T F 1%
(25" Sl (B) 3R (C) W E 1%
(3) /9 (A), (B) I (C) W Fiy
(4) e (B), (O) R (D) W& T1%

.
i "

: [,

R2



11.

12.

PART - Il / 9T -

REASONING ABILITY/ ""‘ﬁ B
db 1, o e R TR T e ey
Three statements are given followed by two . fr T ¥ el H T ‘qmﬁ ﬁ”h @h Il
conclusions 1 and I Agsuming the ﬁ,fa’ﬁ'ﬂ el # q HH HT/'@[ ey Y W
statements to be true decide wihiich ot the %‘/'%’7 w‘3{"‘:'?51
conclusions is/are definitely frue. / o
I P ZOFR
Statements :
1, M>Q N m
1. M>Q —
2 pzM
3. N=M 3. N= o
Conclusions : :
I. Q == N I- bé‘ Q = N
I
I. Q<P S }T/ Q<P
et I [ 3
(1). Both conclusions I and II are true.~ 1) ISR IS & €
(2) Neither conclusion I nor II is true. ¢ @2 ot fored 1 90 © ST & e 17
(3) Only conclusion I is true! 8 3) e R 1 9T &
(4) Only conclusion II is trug /W et et 11 6 gl
Eight friends J, K, L, M, P, Q R and S are | 12. e 1 K, L, M, B, Q R.3 S T aian
sitting around a square table in such a way Sl EI'Ifl 3R TH YR 9 93 € T vl = T
that all are facing towards the centre of the ﬁﬁm\'ﬂﬂ? B /L S % S H 31 gen
table. ‘L sits in the middle of the side. ‘P is | &1 ‘P, M’ % Sl S THLTIH WS 71,
second to the left of ‘M. ‘Q’ is exact right of ‘K’ % THeH il SR & AR 97 & = § da
‘K’ and is sitting in the middle of the side. ‘P’ @Rl P, w ﬁ?rcn TOM,TF
doesn’t sit with ‘L. "M’ sits exact right of ‘J'. TeheH TR IR SBT 7| ‘M’ SR ‘S’ & <=3l T
Two friends are sitting in between ‘M’ and ?}%%I’R’ T % it @Tﬂi’mﬁﬂ%l o
‘S’ ‘R’ is second to the left of “]’. ‘S’ is exact M /4 # TeheH I ST 3T B B, L & o Sﬂ'{
_._._...._.--—-"""
left of “L’. ‘K’ is third to the left of ‘L. R T W ST R
Who sits fourth to the right of 'K’ ? | ‘K & T 3R S TH WA S8 8 2
M R M R
2 S¥& 2 s
@ .J @) J
@ p F A5 P
6 s
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. | X o 1 3R
i3 Given below js a question, followed by two | 13. e e fen T d ‘ a:'l?{il'a & gl
statements [ ang 1y, cach containing some Il g 1 o SO A FT T T
fnformauon: Decide which of the statements g frofg ST fof -m/'é’t .
1s/al"(f3 sufficient ¢ answer the question. 3 F fag v %/% ! i
How is Kushal related to Meenakshi ? DI T wiieft | A HAH LL C.l
e - P O .6
Statements ; A m)=— %V" _-_“
K i :
L ushal is only gon of Meenakshi’s L g, el SERE S i

brother-in_law.

II. Garvita i
Vit is Kushal’s only sister.
1 Bo
(1) th Statements I and II together are
necessary to answer the question.
(2) Boththe statements I'and IL together are
not sufficient to answer the question.
(3) The statement I alone is sufficient to !
- answer the question while the
statement II alone is not sufficient.
(4) The statement II alone is sufficient to
- answer the question while the
— B statem i ici
0{/ \ ent I alone is not sufficient.

O B~ —&

14. Refer to the following letter sequence and
answer the question : '

(Left)y SBTMRESICZYOWAPDFH
G UL (Right)

Which letter is fifth to the right of the twelfth
letter from your right end of the given

sequence ?

O w

® w |
® R |
(4) X ul = |

[=

o

PGT-HIS-2023
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15.

16.

PGT-HIS-2023 5%

Given below is a question, fo
statements I and II, each containing some

information. Decide which of the statements
is/are sufficient to answer the question.

Who is to the immediate right of ’J" among

five frlends ] K, L, M and N, facing the

North ?

I. ‘L’ is third to the left of ‘K" and " is
second to the right of 1z,

I ‘K’ is to the immediate left of ‘N’ who is

second to the right of i

Both statements I and II together are

necessary to answer the question.

1)

Either statement I alone or statement II
alone is sufficient to-answe
/

()

question. il

The
answer the question while the
statement II alone is not su.fﬁcien_t.

-—

3)

(4) The statement II alone is sufficient to

=i - answer
statement I alone is not sufficient.

‘M +Q’ means ‘M’ is the wife of -6
M’ is the father of ‘Q’;

A+ B><I+U D, how is ‘B

(1) Sister
(2) Aunt
(3) Mother
(4) Brother

i

llowed by two.

tement I alone is sufficient to

the question while the:

el T © vy o

A T T =R
15. Hmwglﬁ?ﬁmﬁ%m?lqt
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17. Two Statemen;

18.

labelled as Assertion (A) and

€ given. Consider both the
efully.
Assertion (A) .

Reason (R) ar
statements ¢y

Fake news spread in world
has become a serious

Problem.
Reason (R) ; :
) The internet is source of all

fake news.

Select
correct answer with the help of code.
1)

)
@)

(A) is false by (R) is true.
(A) is true byt (R) is false.
B
oth (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(4)

Three statements are given, followed by three
conclusions numbered I, Il and I1I. Assuming
the statements to be true, even if they seem
to be at variance with commonly known
facts, decide which of the conclusions
logically follow(s) from the statements.

Statements :

1.  All pinks are scarlets.

2 Some scarlets are blues.
3. No blue is brown.
Conclusions : -

L. Some browns are blues.

II. No pinkis brown.

Some scarlets are pinks.

II1.

(1) Only conclusion I follows.

(2) Only conclusion M1 follows.

(3) Only conclusions I and II follow.
(4) Only conclusions 11 and III follow.

PGT-HIS-2023 =%

17.

18.

<58 2y e e T ¥ 3 3 AR ()
b (R) 3 w0 & T T & | A R A

¥ fg=m FifSa)

wfirmert (a) :  fed H g @A e T
T e 7 T E
?‘_J
T (R) : Zzo it 7w A
A

ﬁmmﬁﬁmﬁ“ﬁwaﬁ'w
e |

(1) (A)m%wn’)qa%|

2 (a) 7 & TR Ry <

(3) (A) ¥ (R) gF & € ¥ (R), (A) FI
T AT

@) (A) 3R (R) I T E Y (R), (A) i
eI AT e 8 |

=i i e g TR Fer e i e I
SR 117 e T ¥ | S few T A 1A
m%wémamqm—m?’“
mﬁﬂamﬁ#@mﬁwnﬂﬁ
F g Tyl 5/% 2

w@mﬁrﬁaﬁm

i .ﬁl‘ I

h¥dH
3 U Hﬁwm(aﬁﬁ)%l
2. I O T, A Bl

3. W oft frem yu T T
et -

I R FB R A €

Lo ¢ oft Tl AT 1
/@mm(ﬁr\%ﬁ)ﬂﬁﬁﬁl
(1) ﬁﬁﬁ‘ilﬁﬁﬂr%’l
Wﬁﬂﬁlﬂﬁm?{l
Wﬁwélai‘mlﬁmﬁ%‘l
a;aaﬁﬁﬁﬁinafr{mﬁﬁa‘aﬁl

b ,t |‘

c-XEY

(3)
(4)

'."“'I]
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Venn diagram

19. Which of the following

A ip between
represents the best relationship

Teachers, Sisters, Females 7

Study the given diagram carefully and

(1)
)
)
)

20.
answer the question. The numbers in
different sections indicate the number of

persons.

Salaried | 24

Married

17
Under 35 Years

4 How many ‘Under 35 years’ I;éople are
‘Salaried’ but not ‘Married’ ?

)
(2)
(3)
4 8

12
13
5 e

 5pm
PGT-HIS-2023 6
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21.

22.

: To ‘D’. Of the two married ladies, one is a
NGO worker. '

A statement ;.

conclusiong
Assuming the Mbered I, 11, 11T and IV,
tat@nnent to be true, decide

which of the ¢, Oncluc:
true. lusions is/are definitely

Conclusiong -

L C>D
II. K<D
Im. P<E
IV: E=R

(1) Only Canclusmns I and IV are true,

(2) Only conclusmn Vi 1s true.

(3) Only. Conclusmns Iand II are true.

(4)  Only cdnclusions T and III are true.

There is a family of sjx members D, K, L, M, | 22.

N and P. They are Lecturer, Artist,
Businessman, Executive, NGO worker and
Singer but not necessarily in the same order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who is the
mother of 'L’ and ‘P’. ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an
Executive. ‘K’, the Businessman, is married

Which of the following statements is.\tr'ixe_ ?
61) f“M’ is the Arl:lst

(2)
o

g A
L zssonof D’ and ‘K.
‘K’ is the wife of ‘D’.

-’ |
(4) ‘M’ is the Executive. !

GT-HIS-2023 E’ﬁﬁ

gIVen followed by four | 21.

T wem fear 7 & fowss og =k fepd 1 10,
I &R [v fgw 70 &1 oM =1 9 A 8¢ I8
Fofn i foF R o fremd! & @ W w/9
Frerd fafyem w0 @ v 3/872

EW:C=R>D~_‘EE=K>P
ﬁnsm‘:

Vi C>D

Ise K <D

. HI— P<E
"W E=R

(1) e, frerd 11 iR IV a9 21

) St P Iv T 21

(3) e frepd 1 iR ¥ ¥

M%—Hﬁﬁl?ﬁf I AR I o &1

B8 "eHl D, K, L, M, N 3R P d5ell Ush Uiar
€| I ARSI, FATHR, SRR, TG, TS
Frish 3R Tae § fobg 9 3Eft w9 A & T
YT Tl &1 < foafed e §1 SREE N
aﬁmﬁ@m@rgﬁ%@r*u R P
IR ¥ | P e S YeE S e $ 1 D’ ‘D’ Th
w@z@ﬁm%ﬁr@m%n ‘K TH
FRER & 5o oo D @ = 312 faate

wfeeell ¥ & T Tl wrfEgg ¥
P —t L2
ttJ |
freafafead & @ &9 o Fum af £ PreTrII

a7 M TF FAER T JE - ®=
@) ‘L,'D 3K B R VRN
(3) ‘K, ‘D F vl T
4) ‘M TH

21y

| s

% [Kfal

K ="

~R2

¥ "7
e B e M T S R A e L s A



23.

24.

{

o
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g
PGT-HIS-2023 m’f’%

Lakshmi starts from point ‘A’ and travels
2km Southwards to a point‘Z’ and then turns
right and travels twice that distance to reach
"Y’. She then turns left and travels five times
the distance she covered between point ‘A’
and ‘Z’ and-reaches point ‘X’. From there
she turns left and travels 4 km to reach
destination ‘B’. What is the shortest distance
between the points ‘A’ and ‘B’ and what is
B’s direction with respect to ‘A’ ?

L4

(A

[
F
2

8 km, South

(2)
)

(1) 8 km, North “

zil—

(3) 12 km, North

®

(4) 12 km, South

(¥
% £
Seven children K, L, P, R, T, X and Y are
sitting on a straight bench facing towards
North. ‘X’ is sitting immediately left of ‘Y’.
‘T’ is the immediate neighbour of ‘R” and ‘P’
Neither ‘X’ nor ‘Y’ are the immediate
neighbours of ‘L’. ‘P is sitting second to the
left of “L".

Who is sitting at the second position from the
right end ?-— i

f f

Kb
@
3 R
4. T

12

23.
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e =@ A ST & 2er g 7L g
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2 5. Three State.ments

. are given, followed by four
conclusiong nu

Asstifning the tmbered I, II, III and IV.
Hoev-asem; s bs atements to be true, even if
e focts, 3 & at varjance with commonly
. » ©€Clde which of the conclusions
logically fO]low(S) from the statements ?

Statements :

1.  All boats ape fishes,

2. Some fishes are rivers,

3. Some rivers gro sailors.

Conclusions :

L. Some sailors are fishes, y

II. ~ Some boats are sailors, I
II.  Some rivers are boats.

IV. Some fishes are boats.

(1) Only conclusion IV follows.

(2) Only conclusions I, II and IV follow.
(3) Only conclusions I and II follow.

(4)  Only conclusions II and IIT follow.

26. 'If North becomes South-West, then what will

West become ?

!
!
|

r

i P Bl |
T & R & e T A | fa
S a1 oot e f fg g el # & P
m/ﬁmﬁﬂaﬁmmﬁﬁm%/%?

II.

III.

OEEERE =2 SVARE RIS ’:Q
(2) e fred 111 iR IV fasherd €1
(3) here T 1 TR 11 feherd B4

(4) S Fred 10 3R T Frepema €1 K

gfg ‘I, Siu-uives’
1 B S ?

(1) SW-uf=A

W—‘iﬁ

OO

%26. 'ﬁrm%ﬁr‘qﬁm‘r’

1

|
|

(1) North-West

(2) ‘South-East

(3) _East

(4) North-East |

.m- !

Ea3E .
'GT-HIS-2023KE% ¥

L=

(4) S
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27. Two statements labelled as Assertion (A) and g j; (R) &% ' # TR aﬁf%(al eqk
Reason (R) are given. .Consider both the 2 e e | - W%, |
statements carefully. SifrE e ( A): TG F ug . |
Assertion (A) : India has the potential to E@Hﬁ@%m :;
make its Handicrafts hi &7 = %ﬂm ||
industry a very flourishing i |
sector. . EIGRC |
R) :
Reason (R) : India is a home to a very H* (R) a?;} “@Tﬁﬁw%ﬁa ﬁga |,
large number of craft forms ¥ \
: including textiles. 1 TR :
Select correct answer with the help of code. :I:‘I fere T8 R I w0 |
Ted € 9 (R) WE )
(1) (A) is false but (R) is true. (1) (::; o T (1(1) )naa 5, |
(2)  (A) is true but (R) is false. @ SR (R) 3 T ¥ o
(3) Both (A) and (R) are true and (R) is the ,@—)/g S (R), (4) 3 ‘
correct explanation of (A). % ) |
(4)  Both (A) and (R) are true but (R) is not (4) _g; o (R:T_;g ¥ g () (A) = |

the correct explanation of (A). |

e TS o T N T € T | 5 e |
e - S, T, U, V, W, X, YR Z §| 5

28. A patient has been given a medicine schedule. ! 28
There are eight medicine capsules. S, T, U, V,

W, X, Y and Z. Which have to be taken each ﬁﬁmﬁﬁ#wmmmﬁqmﬁﬁ |
day based on the following conditions : : € |
(i) Capsule ‘S’ must be taken sometimes (@) IS BT I W ¥ e o |
before ‘T’ and ‘W, feran s |
(ii) ‘T must be taken immediately before @) ‘T @V | dehldd Tgal Toran W |
N, : 45 'T:y w T S ‘
(iii) Fourth capsule must be ‘U, (i) <hem hUEE ‘U BT IR T |
(iv) ‘Y’ must be taken immediately before (iv), Y ! ‘X’ o ehTel T8t fer S
o,
(v) ‘Z mustbe taken immediately after ‘W’, (v) ‘Z &I ‘W’ & dohiel a1e Tadn S
(vi) ‘Y’ is the first capsule to be taken, oty Yy w Ty qgéﬁ-q-[ M@
Which of the following statements is false ? fafas o 9 959 91 5= ToE £72 |
(1) The sixth capsule must be V. (1 "Ba FTE VB AR |
(2) ‘T is taken immediately after ’S’, ?) ‘T 9 ‘s ¥ qoprel e v ST &
(3) ‘X’ is taken before ’S'. (B) X ‘s T yza fera ST |
(4) ‘U’ must be taken between ‘S’ and ‘T". @) U Ry @R T P S fom S =1fee |
 mgm 1 ! S
PGT-HIS 2023 PEERVER "oyl S ¥ R ‘:
: \AJ 1
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29. Sudha ls féhe wife

of Anand. Kavita is the
Anu is the daughter of

 mother of Gaurgy
vi, who i
Ra 2 13‘ the ?:_Pmer of Aryan. Anu’s
avita is th;

“mother K :
€ daughter-in-law of

Anand. How jig g 3.
An PR S‘fﬂg related to Aryan ?

(g *a ?rnal grandmother
(2) Maternal grandmother

€))

(4)

30. Select the letter Clugi!e_i;tllat will replace the
question mark (?) int the following series

i = €

29. [, eFg F TR &1 i, A JIP
bR cUCR B oo R S g S
e, g i gAY 71 g
ey ¥2? '

1) = ~ W’
® &
) = V" A @’{
_ )
DT e
2f% , /

30. Trefafed swen # yed fog (7) % UM W ST
o A& FHE =T L |

!
!
!

a 2B

BVU, ZXQ, XZM, VBI, TDE, __?2
(1) FAR 26
2y »
.
; 2z
2) FRA LY e
2\
(3) RAF
- 2t
4) RFA

EEE
PGT-HIS-2023 Sg?ﬁ

2 Yy
BVU, ZXQ, XZM, VBI, TDE, ﬂ’/’ i
2 gL AT 2o | =7ret
GO e
(1) FAR ‘51/}
PRI
=2
us L7
% @ FRA o e
52l -;.:;,—_j@”‘
(3) RAF | -
_@,@z @ ~ _
M ED =it
R2
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31.

33.

3)

PART - 11l / T - :
KNOWLEDGE OF iIcT/
31.

McAfee Plus is an example of :

@)

Open source software

@
€))
@

Programming Language
\
Anti-virus i

Application software

)

Which of the followiﬁg software you

preferred most to design an animated

multimedia presentation on the topic ‘Benefits
of Renewable Energies’ ?

Microsoft Excel

)

(2) Microsoft PowerPoint
(3) Microsoft Edge =y,
(4). Microsoft Word

Which of the following cloud storage service
owned by Microsoft ?

(1)
(2)

Floppy Drive
Goo%le\Drive
“iCloud

(4) One Drive

E3E
PGT-HIS-2023 534
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a2,

33.

i
cT & M .
(McAfee Plus) forte us;

-0

A

=2 B2 £ %

a7t ad ﬁﬁ‘f WHEATT (Open soy \
Ureq |
softwaf-e)*‘ 1_

|

m—rﬁq’fr é%?f (Programming La“guage) \

)

2)
o7 gl aTt’JTH ﬁAntl-vu'us)

{

J \
4) w@@ﬁm gl It (Application'\
software) \

|.
Iffrze ot Ruaw T’ fom w o |

e St e ey %ﬁqq \
Y AR 9
maﬁﬁfﬂ L
1) %ﬁgm (Microsoft Excel)
() HIEEE:T%_F% graIwErEe  ( Microsoft
PowerI_-’cmt)

(3) W éﬁ (Microsoft Edge)
Wy TESNEEE IS (Microsoft Word)
HEHHTE & e ool TS @R Had

ﬁ??i%—lf@ﬁﬁﬁaﬁﬂﬁ’r%7

" R2



34, Outof the follg
combinati Ing options, the most popular 34,
selected ton Of shortcut keys to Copy Some :ﬁ‘ﬁﬁm'@‘ bkl el e
1i I most of the MS windows B NS e ) e T
applications is ; ~ T""‘:’Fﬁv{f@ﬁ famedt ¥ ¥ waifus =™
(1) Ctl+p %ﬁ ) M- i TAeH HHE-T1 %2
@ Col+X o Xy - Ciner
@ Cul+c e
@ Cul+o £ A3 Cul+C
ﬂ * 4) Cul+0
35. The power bacqu::t}_‘—é
. P device, UPS, stands for 35. TUER FHeTq IUH g4ied (UPS) o ®
(1) Umnterruptible Power Suppl
g Ui €r supply (1)  Uninterruptible Power Supply
nminterrupty
M- Ptible Power System (2)  Uninterruptible Power System
nder-
control Power System (3) Under-control Power System
4) Under-
4) & COHZH?CI Power Supply .(-4')/ Under-controlled Power Supply
36. Which of the foﬂéﬁfing is not a source of the | 36. fr=fafEd ¥ ¥ S = AR fowd § 9= &
virus entering your system ? 3 1 T ©d T8l ¢ 2
(1) Pen drive :E”i (1) U9 B (Pen drive)
(2) Printouts =: 2y TH23MS@ (Printouts)
(3) Email attacﬁmént (3) 3-Td 3N (Email attachment)
(4) Hard Disk | (@) =S fewR (Hard Disk)

Which of the following does not come under
cyber-crime under IT Act 2000 ?

37.

37. ﬁﬂﬁf@ﬁﬁ@{ﬁﬂm 3 3 TER-2000 F afa
T FIgeR ST T © ?

l (1) ¥etie R SR SHHR H G FL

) S SRR T R F A et
$-Ae (fake email) FHST 1 TIRT HL
(3) forelt R/ ARISUT
(4) FEWT W I Fveiie  wifeey
(pornography) foafi@ =

(1) Misusing p%eif;gfbnal information over
internet =

(2) Using fake emall messages to get
personal mf_o;mahon

(3) Stealing mO ;ﬁ or from a store

4) Distributin é: :f:}:? ild pornography over
internet = =

r?@lil

PGT-HIS-2023 E‘l
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38.

Which of the following groups of devices are
only input dev%ces ? ;

(1) Keyboar}%ﬁlmter, Light Pen

_---—-‘l‘_’-—'w.E

L
e oF

(2) Joyshck}J\/hftrophone, Scanner
rig, B

e o

(8) Mouse, Moitor, Joystick

(4) Mouse, Microphone, Speaker

Which type-of hetwork we create when we
connect two smartphones to transfer some
photos through_Bluetooth ?

39,

—— =

(1) PAN

il
|

\!'ll'l

|
lljl‘l"'

(2)' LAN

|.=|II|

11 |

:]fli

(3) MAN : |

(4) WAN

Which of the fq 6wmg is an example of an
Operating System ?

40.

1)

(2)

(3)
G

’@P@!ﬂ
PGT-HIS-2023 g 18

39.

40.

o - T T g

printer, Light Pen) ¢ 1]

ﬁqﬁﬁ, HISh 1HIA, Thy (oystiq,

Microphone, Scanner)

a13g, A, ST (Mouse,
Joystick)

) Monit,

ar3dg, ATEHIHIA, T (Mous,

(4)
Microphone, Speaker)

et 79 efgdl (Bluetooth) % HIEH & g gy |l
o % TAT S T EE T H FR |
A o JHR & e I T < 2 |

(pp T (PAN) ]
(2) TIHTT (LAN)
(3) T YT (MAN) ¢

4) S=Y T (WAN) g

frefafes & @ b9 @ sy foen
(Operating System) 1 Teh 3ISELT & 2

(1) = (Word) |
(@) TS (Windows)

(3)  foT (Bing)

A TS (Bdge)

R2



PART - IV / Y] . 1y
TEACHING APTITUDE
I Rneror aifdrgf

41. Effective teachin
. g b dl : p
of : y and large, is a function § 41. TEr: gt fineror RreeRt v 22
(1) teﬂcher’s =
teaChing_ Positive attitude towards Ay T 2 foreror ¥ R THRTH Eﬁfﬂqﬁi
(2)  teacher’s aby;
ili
(3) teacher’s honz;:: R e (2) ferenfefdi & exferma s M T ArEd
r ) 3
(4) teacher 5 Scholarship_ ( ) ﬁTw Eﬁ 'ﬁ!—@ ks
@) Toeer =1 vife X
42. Which of the followine :
‘Assessment of Lowllfg is not an example of | 42. Ty=ifera § 4 W@ ‘ST ¥ amEad’ H
EaI‘rung’ ? q_gﬁ %?
(1) Scholarshi E T ’
P ExXamination (1) mqﬁw
(2) Anecdotal R
ecords () dedh s
(3) Annual Examij -
4 mination (3) aiftier adreT
(4) Assessment of Homework Ay~ e Rl SR
43. If Stl.ldents are not taking interest in their | 43. ofe fommeft aﬁq@@ﬁﬁﬁﬁé@%ﬁ[ﬁ%
studies, the teacher should : &+l :
(1) file a complaint with the principal and Dy gy iR s ma-faw 4 faeEd EQ
parents and seek their indulgence. 3R STRT HEFE W A |
vy i
(2) find out causes for lack of interest and | A2 T TER # ¥4 T o F FHRO B A
take corrective measures. SR GHRIEAS HIars |
(3) ask them as to why are they not taking (3) T IS ifeu fir & 7o § wfa =i T
interest in their studies. | Awe!
(4) tell them that taking interest in their (4) ¢ S TEGA T fF R =W A 9
studies would lead to good result. a7 o 9T B
4. Which one of the following is not associated | 44. ?-E?SH 'Ef Y A T TS TUIETOT [ datyd
with a unit test ? I : .
the teacher (1) forereh g guta: Frt
(1) Totally'contro]led by the
. ia]l purpose | (2) STERER Rl &g I
(2) Used for Remedial purp e < e
. ~d Achievement Tests
(3) Standardize® = 4 number Of | (4) T H Hifa e T e
(4) Confined 0 limited T : ’
competencies
R:

~r 1 e ANDA @AfE

19



45. Which one of the following is not a
characteristic of teacher centred approach ?
(1) Enough scope for discussion and debate
is available.

(2) Courses prescribed can be completed in
time. '

(3) Large sized classes are handled very
well.

(4) Unfamiliar or abstract concepts are
directly explained by the teacher.

46. Mohan can now think in terms of
propositions and deal with propositions
instead of objects. He deals with sum total of
possibilities rather than empirical situation.
He takes final steps towards versatility in
thought.

Mohan is at which stage of Piaget's model ?

(1) Concrete operations stage

(2) Formal operations stage

(8) Pre-operational stage 3

(4) Sensory-motor stage

47. The ASSURE model of integration of ICT in
the learning process has the components :
(1) Analyse the content, state the aim,

select method and materials and
evaluate.

(2) Analyse the learners, state the aim,
select the method and materials and
extend.

(3) Analyse learners, state the objectives,
select the media and materials and

aluate.
Activity, state the objectives, support
and e;_tvend—.—w
B3
PGT-HIS-2023 &5
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46.

47.

(2)

Hehdl ’
@mﬁmmax%ﬁmma
St € | " 4

grafeferd ST A T Wiers g
fe-d et R s ¥ :

(3

4)

e o7 AT 9 SR HIE Hehel € i ey
i orden AeEel I BT WA |
e TR ST o SIS HUTEISH % sy 3
e T &1 I8 TIER H Sehea ) oy
A ST 2 |

A, faars % WA % SR W fFE wwog

2 |

(1) ¥d HishATH STeree '
2] oTd WiERATC STeen

(3) YA-HfsharcHe e

(4) FEI-SIa THE AT K

AT wfshan § G SR Whwor drehfe |
WA= % ASSURE WfeH™ % @@ €@ |
(1) Tarrasg =1 fovemm, oag fafko, oy

STR et 7 =R SR e | |
(2) stfrmeratel w1 favermu wen futm, |
fafer iR Wl @1 = ol )

@) sTftrrEis w1 v, St w1 e,

ISR SR Wl 1 = 3R e |

SO T, S e oo, et sl ol

R2



v

49. What should not be a role of

50.

GT-HIS-2023 &

Which characte
Adolescence stag

1)

48. ristic does not belong to

e?

A perio :
period of Intense emotions

(@ Highly critica) of social evils and
Injustice

3) P

3) Tronounced 8roup loyalty

4) Formi g

( ) ing ngups among members of

same seyx

o a teacher in the
consihiction. of knowledge by students ?

(1) Focussing on realistic approaches to
solve real world problems

) DISCOUl‘aging self analysis and self
assessment -

(3) Being sensitive to the previous
experience of each and every student
in the class

(4) Supporting  cooperative - and

collaborative learning in the classroom

What is not an advantage of Discovery

method ?

It provides training to prepare students

(1)
for life.

(2) It develops self confidence and self i
reliance.

(3) This method is suitable for the students
of lower classes.

(4) It develops scientific and critical

attitude among students.

48. fepelRy & = <t fordioan & o <t €2
(1) < G w T -
(2) wmfeEr gUEdl @ o 6 uf fad w
F 3w e 7
a () FE wE e
AT feim 3 safrrl o Ty wHe
49. frmifi grn 3@ 5 g FE § e B
P o yftrer T A =t 2
(1) et fowa 1 wwened % FaHe ©g
reafaes SURTH U FRIh Lol
Mﬁa@rwamaw%‘r%ﬁmﬁm
(3) en % yos famned % qEigye % Al
| HergRfierd
(4) wen-wher T Tedrt ud geiargel At
EIRERREERIETS!
! . -
50. @ fafy & i w1 ey & B E 2
(1) e foeiiEl # shaw % fag Tm en =
| GRI&TT U S g |
(2) T BRI SACHIGEE TR SAMFHET
foera ST ¢ | |
o7 e o 9@ el F et & ferg
| I R |
g (4) 3WH T faanfefat & s @i
| AT 2fvgha @ fowm g 7
21 R2



PART -V /¥ -V

HISTORY / 3ftE

Which one of the following was not an
officially maintained record of the British ?

(1)
)
3)
4)

51.

Gazetteers :
Constituent Assembly Debates Records
Census Records »
Report on the Native Newspapers

Given below are two statements one labelled
as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) :

Ghiyasuddin Tughlaq granted exemptions to
Khots and Mugaddams in the land revenue.

Reason (R) : :

Ghiyasuddin Tughlaq wanted an active
support of the Hindu aristocrats to curb the
power of the old Muslim elite.

In the context of the above statements which
of the following is correct ?

52.

(1)  (A) is correct but (R) is not correct.
(2) (A) is not correct but (R) is correct.
(3) Both (A) and (R) are correct and (R) is

the correct explanation of (A).
Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

4)

3. Related to textile craft, was the indigo crop
and the extraction of the dye from the stalk
and leaves of the plant. Who describes the

earliest method of indigo extraction ?

51.

(1) Isami

(2) Barani

(3) Ibn Battuta
(4) Marco Polo

B3
“HIS-2023 A

|
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52.

23,

frfafes & | 30 W St g oo
T fanrs & o2

(1) e

() wiegue TR feag gy

A5y e R

@) T &1 fe Afes ==
) & 2 T H A T 1 HAT (A) T T
1 ST (R) el T E |

HI (A) .
FTATE e 3 @rd e YeheHi i - |
T &
T (R) :
firergem gt U g™ Sels o it i
*Wﬁwwﬁ#ﬁﬁ%ﬁﬁqaﬁmm
HHAT TR ol
ST g & el ¥ frefafaa § @ R @
& e ?
ey (A) T TR (R) T B
2 (A) T T W (R) T )
(3) (A) R (R) SH @& ¥ R (R), (A) &
TR TR B
(4) (A) 3R (R) T & T T (R), (A) =
T T TR B |

FUG1 RIeq 1 Ty et 1 wEe § o 31k e
& N9 % oot AR T ¥ e w1 s 2
A e 59 fremdo Y yrfirs fafy =7 9ot
R €2

(1) sum

(2)

A &1

(4) TR Oy

R2



r

go. Mateh ListTuwig, o d find th
answer from the qo . o an e correct | 54. gty = g1 | AT HifAL T = f&&
—_ e given below. ' ™ Fe { T I B T Ffs |
(Rebellj L -1 -1
() Ahom . Wear(z)) (o) (=)
o ()  1831-32 (a) Em () 1831-32
o _
®) - (ii) 1855-56 b) > i) 1855-56
(: I\:nt . (i) 1921 © ¥ (i) 1921
(d) oplah (iv) 1828 (d) Hrues {liv) 1828
Code : A,
(a e gy’
ML @ 6 © @
WO @ @ m @ @ @O
2 @ Gv) @) a6) @) () Gv) (@) @)
@ @ @ O @) @) @) @ O @
@ @) O G () @) @ @ G
55. Inhis”Account of the Twelve Provinces” Abul 55. 3 TSl T EE*ELW ki W,Lq ol
Fazl provides detailed area statistics of all TR ARG qidi <kl @—:m W.Efm
North Indian provinces. The record of which fem 1 T oTg A EN HT W i/ Wil =
among the following provinces is/are not fiepre wnfe T mf_{ql'%)
recorded by Abul Fazl in this ? i, B
() Bengal @ S -
(i) Thatta o T
(i) Kashmir (i) T
S Lo §§ (iv) TR
v anor
F T I T DY
Choose the correct answer from the code ; =i fau T %<
given below : %
(1) (i) and (v) only o ), ) st (i)
@) (), i) and (i) o 5 FEE 02
(3) (iv) only o e (i) AR )
(4) (@) and ()oY s
- o= F
23 ot

@3
PGT-HIS-2023 Kt




56. Who introduced the permanent settlement in | 56.
Bengal ?
(1) Lord Charles Cornwallis
(2) Lord Richard Wellesley
(3) Warren Hastings
(4) Sir John Shore
57. Match the following List-I with List-II. 57.
List-1 List-1I
(Authors) (Their Works)
(@) Margaret (i)  Gandhi’s Political (a)
Chatterjee Philosophy
(b) Gangeya (i) Gandhi’s Truth (b)
Mukherji
() Bhikhu Parekh (iii) Gandhi and Tagore : ()
Politics, Truth and
Conscience
(d) Eric H. Erickson (iv) Gandhi and His (d)
Jewish Friends
Choose the correct answer from the options
given below :
@ ) © (@
1) @) @) @ @
@ @ @ @
@) @ 6 @) ()
@ @) @ 6 @
58. Which book was smuggled into India ! 58.
wrapped in a cover labelled Random Papers
of the Pickwick Club ?
(1) Edward J. Thompson’s The Other Side |
of the Medal
(2) S.B. Chaudhari’s Civil Rebellion in the
Indian Mutinies
(3) V.D. Savarkar’s The Indian War of
Independence
(4) M.N. Roy’s India in Transition Stage
mgm
3T-HIS-2023 [ 24

) R N

Fa
5 :

rfiga AL ar*{%ﬁll o e iy
" FEit-11 |

e

=

7 9 "E S| F 99

= feu
HifIT : log

T 7 oA R A

il
i

I}EW : £
WA A F fafer R @ R
M. weRE # R gegT a7 A
freveg

T I =Y 3897 57 arfororT @9

(2)

it

i

(3)

(4)

R2
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59. Match the following § (251 with List-IL.
/ P,
List-I i:ljgirgt-ll
O
(Author) =(Work)
N
h”&.%
(a) Joyce Lebra- ® ™ Vokr Kuer Singh :
Chapman The Great Warrior of
1857
(b) Henry ()  The Rani of Jhansi :
Scholberg . A Study in Female
ffin??zroism
(@ SK. Sinha (i) ¢=Indian Mutiny and
£ sthe British
—Imagination
(dj Gautam (iv)L “Fhe Indian Literature
Chakravarty of the Great Rebellion

Choose the correct answer from the options

given below :

@ ® ©
© @ @ 0
@ o 6 @

@ @ @ @ 0

mgE
PGT-HIS-2023 o

| 59, frefafa gei-1 F ge-11 3 we e i
\

-1 FE-11
(era= ) (=fa)
(a) it Ten =AU () amgmf??:ﬁﬂz
giftaR 3w 1857

!
i

MIGEY o fr At erE et T
e W =} 37 HHA BRI
. . ﬁ,
o T fE= @) Ffeq =T T
3 fafes sAfFH9T

T =ghadl (v) T gfea feet=R 3H
3 f& 32 fEfaad

ﬁmmﬁwﬁﬁﬁnﬁmmw

i -

| @ () © @
| o @ @ @)
!31 @ @ @ ©
ii @ 6 @ @ @
%% @ @ @) i) (@

25




Match the following List-I with List-II.
List-I List-II
(Their Work)

60.

(Author)

(a) Sir Collin (i  On the Face of the
Campbell Waters

(b) Flora Ann (i) Lakshmni Bai : The
Steel Rani of Jhansi

(c) Sir T. Metcalf (i) Two Narratives of the

. Mutiny at Delhi
(d)

Michael White (iv) Narratives of Indian
Revolt from its
outbreak to the
capture of Lucknow

Choose the correct answer from the options

given below :

(@ (b) () (d)
(1) @) @Gv) @ ()
() (@v) @) @) (i)
@) @ @ (@v) ()
4) () @) @) (@)
Given below are the two statements : One is

61.
labelled as Assertion (A) and the other is

labelled as Reason (R).
Assertion (A) :
Gandhi’s critique of science emanates from
his dissatisfaction with the divorce of science
and progress from morality.
Reason (R) :
Gandhi argued that the advance of science
had added ‘not an inch to the moral status of
Europe’.

- In the context of the above statements which

- of the following is correct ?

(I)  (A) is true but (R) is false

(2)  (A) is false but (R) is true

(3) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not

the correct explanation of (A)
Bl ¥ E

PGT-HIS-2023 536

60.

(b)
(©)
(d)
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61.

fFrferfea Fei-1 1 Geit-11 F e sifg

G-I Heit-11
(@ ) (Tt Ffar)

W A FEAIAG)y 7 7 B 075 7 e
T T g_(ﬂ)j e a7 : 1 T g
9 gt
. § Q@ e
AEH REE  (iv) NfEST S FETT

a5

e feu T fomedl 7 4 @@ o w1 wwe
FifTT ;
(a)
ay” (i)
(2) (iv)
(3) (i)
4) ()

(b)
@) )
() [
0 @)

(©) (d)
(i)
(i)
(i)
(iv)

ﬁw%wmm@wﬁwm
®

e (R) :

it 1 FE 7k ¢ T famm H wita 3 @ =@

%ﬁaﬁaﬁrﬁw%ﬁs‘ﬂ w1 gig &+ 8

mﬁmwﬁ%wﬁﬁﬁmﬁ@aﬁﬁﬁqm
) .
(1 (A)Wﬁ%’qﬁ (R) T ¥
%) (A) oW & W (R) TR

(B) (A) R (R)‘_@#‘r & ¥ 3R (R), (A) =
e SRR 1.
(4) (A) 3R (R) A T & g (®), (4) £l

T S T R |

R2
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63.

- ()
64,

o

TS, 2023 S

- India ?
(1) 1876
2) 1911
1792
(4) 1858 -

2 From among

; ¢ followin
regarding Can dian (Nox
COrrect

& statementg
th American)
answer from the

history, chooge
code given belgy,, :
(a) The war of 1
vehicle for e :
eme i

e '8Ing Canadian
More than any Other war before oy since,

1812 was usefy] for

8lish ang French divide

12 became a popular

(b)

(0 The war of 1812

_ ended the effective
resistance of Ab

Original People against

te Settlement,
The war of 18

American sentim,
Code :
(1) (a) and (q) only
(2) (@) (9) and (d) onyy
(3) (b) and (c) only
(4) (a), (b) and (c) only

(d)

12 Nurtured Anti-
ent,

Which one of the following years Queen
Victoria assumed the title of the Empress of

to
dhiii to come
Who persuaded Gandh] problem of

i he
Champaran to investigate t

Indigo workers ?

Rajendra Prasad

. » .ﬂ'
62, AREFT) ¥ sfaem & Heay
m(mﬂaﬁﬁqm?ﬁﬂﬁw
wm’fﬂ-ﬁﬁ'ﬂ:
(a) 1812 = g5 A FA=E AR F o
Th ARy AILAT o |
¥ Afy,
uﬁmwﬁw%ﬁmmﬂ;
5 1812 =1 7 Fetrel & farfewn i et faser
= Y@ifthd T ¥ fog swEnd o
3 s @il % v <
(C) glﬁqﬁmmﬁ% 1 e 3 e e FeR
1 T T femm an) o
(d) 1812 % 7z 3 erfcw foreh foem &
Tifee feman)
E TR
1) m(a)aﬂ?(c‘l)
(2) 9@ (a), () IR (4)
(3) e (b) 3 (c)
(4) 9 (a), (b) 3 (o)
63. T 4 A forg o # Herr fooitan 3 ora =1
W =t SUIY HRT &l o 2
I e 1876
) 1911
3) 1792

lani
2) Acharya J.B. Krupa
Brij Kishore
4) Raj Kumar Shukla
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64.

zg@/ 1858

: - EZe i
TR THET & WG-S5
Tw@wm#mwwmm?

(1)

R2



65.

66.

67.

Commenting on Gopal Krishna Gokhale’s
death in 1915, who said; “Truth was the
spring of all his actions” ?

(1) MK. Gandhi

(2)  Shishir Kumar Ghosh

(8) Rabindranath Tagore

(4) C.R. Das

From the following statements regarding

Non-Cooperation movement, which one is

correct ?

(@) Under Non-Cooperation, Gandhiji
urged the people not to cooperate with
unjust evil system.

(b) By describing the British Indian
administrative system as an evil,
Gandhiji removed the spell of fear of the
“Terror of Law’.

(c) Under Non-Cooperation Gandhiji
urged the people to break criminal laws.

(d) Gandhiji termed prisons as ‘His

Majesty’s Hotels'.

Choose the appropriate answer from the

65.

66.

options given below :

(1) (b), (c) and (d) only

(2)  (c) and (d) only

(3)  (a) and (c) only

(4) (a), (b) and (c) only

The basic philosophy of the Indian

Constitution is to be found in the Preamble.
On which date was it adopted ?

(1) 22 January 1947

(2) 26 January 1951

(3) 13 December 1946

(4) 15 August 1947 s

B3
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.

T 1915 H THTel I M@ St Geg R feaguf
FWQ g e 98w O fF; Cue s g
it &1 e ar 2’

(1) TEE. T

) fafer FAR =

@) M SR

(4) HILIIR =

TEEd Aider & AN A frefafaa § 4 =

A TE §?

(a) Waﬁﬂq%mTﬁ%ﬁ'&ﬂﬁﬁﬂﬁﬁ
FAEYY X YOI F Ty b T F
=1 Y TR

(b) Tofewr et wemafer yoneft =61 o Fe

U IS 3 ' & o’ T v )
R ez e

v@;\m AT % qea e ¥ A g
STITER =i 1 Tre 1 1 faan |
eSSl B AR w1 ded’ #5
BRI

e fow T fasmed # A W S % = Fifn

(d)

I (b), () AR (d)
e (c) R (d)

Fed (a) 3R (Q)

%A (a), (b) 3R (o) &

@)
(2)
)
(4)

TR Giau™ &1 a1 T T e S
(Preamble) § e g1 30 e sffrer fwan
T a1 ?

(1) 22 S, 1947
(2) 26 SHa, 1951
P13 foumw, 1946
(4) 15 37T, 1947

R2



.\-\!hit‘l\ of the tollaw

ing ab
Wi out Az :
proclamation i not o 8 Azamgarh

g 68. TR oy 3 s H FrA H A HF Tl qHKA
| \ T T2
@M Appeals to Ailferent see Pl

tions of society

were made ungep ¢ (1) Tt fafis ol H 9 & T3
or five separate sections,

It wa 'qgﬂr:ﬁ. Hi IO =1 ;EEE[
2) CWas l‘l‘)b‘upl,\“so \ e C e
St * 10 the Queen’s 2 == !
It was iss fYqer & IR SEeh! !
(3) Ly llt‘\i n.s ﬂ ) .
25 August 1857 = Sk g - el ) -
STy foen TN
5 Itwas issued in the > of g 9E A AH |
( oy e name of Bahaduy (4) s|lgl |

0. Match List-I with Ligt-1y and find the correct
answer from the code

69. Fﬁfpﬁﬁq\;ﬁ.u@;gﬁﬁﬂiﬁﬁmﬁﬁa@

given below,

e ¥ FWEl ST FH TG B |
Listel List-II -q\a'-}_l 'ﬂ?ﬁ-ll
(Author) (Book) | o) ()
(a) Dadabhai (1) Discovery of l (a) TR ARSI Tem=padl A6
Naoroji India e
@ L. et @ Indiawins | () T EE AR | @ e R
Freedom HIEH
(c) Maulana (iii) Poverty and the (c) Wi ST (iti) TEE TS T
Azad Unbritish rule HTS{ew T A
in India gosan
(d R.C.Dutt (iv) Economic (d) TWMETETT —iv) FHENED G
History of India } . 3w gfos
s Code : S
@ () ( (@ | @ () (© (9
1 @ @) @ @) O @ @ & @
@ Gv) @ @ 3§ 2 @) @ @ ()
- 3) @) @ @ @)
O @ @ 0 y;’( g
: . i) (@ 1 iv
@ @@ @ 2@ @ ! 3

. mgm * N
PGT-HIS.2023 S |




: cter
Mahatma Gandhi transformed the chara

L doin
of Indian National Movement by g
which of the following ?

(1) He brought in vast stratas of society into
it and made it a mass movement.
(2) He kept the Zamindars and big
businessmen outside the movement.
(3) He ousted elitist leaders from the
movement.
(4) He made compromises with the
revolutionary leaders.
71.  Which of the following is the key messa e of
& 3 g

the “Monroe Doctrine” ?

(1) Itwarned the European powers against
any attempt to extend their power in
the western hemisphere,

(2) A blueprint of Dollar diplomacy.

(3) It abolished slavery from America,

(4)

It was a doctrine of economic assistance
to countries of Latin America. _

OP% 0]
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70.

[ 71.

b

M

et A T H F g

W@qaﬂa"rﬁﬂwwﬁq il

wge

e,

Wmﬁvﬁﬁaﬁ
amrepTea TR Ao 38 v

yer A

e
awmnm?f}%

E

)

18T e fean|

(3) 3T

(4) S TR G F T

fr=fefea 9 4
€2

‘aﬂﬁﬁqm’aarmﬂ%wm

(1) 9% g/ [t w21 fvwst

R = A @
() IR e = et <o)
) =9 3w @ 2w o 35 wafa A
(@) AT et 3 ) sfeie werd T

F & fagr |

R2



VAT T v the Co

' Correct | 7o, -1 =y H=t-11 9 Hﬁfa—“ LT R R
8iven belgy, R N W v
Liaf-l LisE-II ehty HEA-IL
H's,_} .
(Na:me ::)fLead ) (A%Sijatmn with) (==h el % ™) (Herar)
Chlnes er n—-,k-_:h
) Mao Zedong (1) F()%;Eér of (a) Hiaq S (i) ?ﬁf‘qﬁm <Rl HEATS
( Kuominton (e )
) Sun Yat-Sen (i) Markit based | b) W am-ir (i) W:Tf S
® ecdﬁ__éﬁm reforms g 5
) _ A iif) = U S e
() DengZioPing Chairman of € Snfeemenfin ) ¥ e o Yo e
Comrnlmist Party F YIS
Executive and
founder of Red Army .
m =1
: @) Fenamids @) e @
@ Chiang (iv) ERIEE]
Kai—-ShEk
%<
Code : () (d)
b) (¢ @
c : v
w : 0 @ @ e w
D @ @ @ | (2) (v) @) @) @)
4 @ @ N
| 73. TR A o o = T
otted to force and | 73. fepan & ?
1 an res é‘:-_ _'__
73. When did Iaphuria o8 (1) 1934
occupied Manc
(1) 1934 |
1
' 937 % B
2) 1 = 1
(2) s | @) 193 i
() 1929 W]
(4) 1931

EFE
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ding
/are TRUE ?

g statements 1827

¢ is
i yn Europ®
(a) The feudal society in W:estleform, %
developed intoa hierarchica i
person was assigned a place acco

to graded order.

74. Which of the followin
Feudal structure in Europ

i lism
(b) With the passage of time, feuds:n g
developed into a form of govern

" ed.
in which absolute monarchs emerg

g e d
(c) Feudal grants were unconditional an
were given to nearest Kin.

| (d) The relationship of duties and
obligations of the serfs for their master

[
| constituted the most important aspect.

Code :

(1) () and (d) only |
(2) (b) and (c) only

(3) (a) and (b) only '
(4) (a), (b) and (c) only

75. Where was the first major public appearance
of Gandhi after his return from South Africa
in India in which he charged Indian elite of

neglecting the labouring poor ?

(1) Champaran campaign in 1917.

(2) InKheda demanding remission in taxes
for the peasants.

(3) The opening ceremony of the B.H.U. in
February 1916.

(4) Talking about the labour dispute in
Ahmadabad in 1918.

w5
PGT-HIS-2023 546 32

L

75,

(©) (unconditional) o7 37 T ﬁ%

(4)

(3) Fad (a) 3R (b)
@) & (a), (b) ¥R ()

T el & SfaTor ST 9 WRA ied % 9%
@) & e ¥t A g A
AT el 1916 g fag e P
JHRT & 3EH G| |
(4) 1918 ¥ srEmemEE ¥ Ay faa] |
Fd g |
- R2




77.

a8

__'._-‘_.'—‘ e i T

What significant Chan

t . e
ad social structyy ge took PlacemPOhhcal

ei .
: entury Europe ? <k tl"gi?_iite fifteenth
ek oF
The growth R
a) of citiegigse
( demand for foodsh:fefsgj"fifatEd lesser
ith
() W; . the expangiofie N
ibreag :hnznetary traghgs%tions, began
Resulted -01d Smmhﬂ__é?of feudalism.
© esulted in tp,e riie—"_‘%f b
n‘lOnarchjes : _izne.-;__:.- g SOlu te
(d)

The institution
of
rigid. serfdom became more

Choose the correct angwer from the cod
given below. )

1 @ and (d) only
@ @ad@only 1
@) (@), (b) and (d) only = "
4) (b) and (c) only

ng statements

regarding Renaissance movement, which

is/are correct ? %

(2)

The scholars of the Rerissance were
critical of Scholasticism.

(b) Scholasticism laid great emphasis on the

rational justification of religious beliefs.

() TheEnlightenmentwriters believed that
liberty discouraged commerce that in
turn discouraged cultiure,;

(d) TheRenaissanceasa rr%?ﬁ?}?}nent was the

product of an rural mmiement
Choose the appropriate answer from the
code given below.
(1) (a), (c) and (d) only
2) (), (c) and (d) only
3) (a)and (d) only
(4) (a) and (b) only

B
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i 77.

a2l Y AN AR ARIAN A n .
¥ s, "t"".:: ZAIELANAL s

Wﬁm@%mﬁﬁ@q*ﬁmm

AR Bt A e FeE Y Swer 84

(a) Wt 3 faeprg @ @@ T HFA
E i il

(b) wﬁﬁﬁrﬂaﬂiaﬁﬁﬁﬁﬁﬁﬁﬁwﬂ
Wamﬁaﬁaf%%ﬁzzﬁaﬁarﬁmgéa

(©) T theTerE i TeTATel 3 g

(d) s1ge™ (serfdom) FHI 2 eafush HS

Tl
3 g T e T T F = FA

(1) Fad (a) 3R (d)
(2) FEE (o) R (d)
(3) ¥ (a), (b) R (d)
(4) e (b) ¥R ()

ASITROT STTe ¥ it Fretataa 8 ¥ &
o1/ 8 e TR §/% 2

(a) mtwwm#m
|

b) e wfear wiftie fawm F @Es
TR T STEe a9l odl o7

(c)mmﬁmé@mwmﬁﬁwﬁm
e ) TAIed Sl § S 36 ed
 HEpta ) edieied Sl § |

(d) T AEE F T H AR TH A
SR o afem &l X

1 fow T e W WE SW A = S

(1) e (a), () 3 (d)
(2) e (b), () 3R (d)
(3) ad (a) 3R (d)
gy FE (a) ¥ (D)

R2
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78.

79.

Given below are the two statements : One
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

Though the Seven years’ war (1756-1763)
was essentially a war of Auslrian succession,

it profoundly altered the balance of power in
North America.

Reason (R) :

The Seven years’ war marked the end of the
French Empire in North America.

In the context of the above statements which
of the following is correct ?

(1) (A) is true but (R) is false

(2) (A) is false but (R) is true

(3) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

In which year Vancouver Island was declared
a crown colony with its capital at Victoria ?

(1) 1853
(2) 1854
(3) 1849
4) 1851
80. Against which powers Japan scored
remarkable military victories in 1894-95 and
1904-05 ?
(1) China and England
(2) China and Russia
(3) Korea and China
(4) England and France
- PGT-HIS-2023 E@E
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78.

79.

80.

D 4

fa @ wud KT T ¥ 9 wom

T (R) % &1 F gwitn o ) e

HAT (A) :
raft W DI (1756-1763) ToR: iy
STafiai LTS o, 30 I eridfie
Tigert w1 T ¥ weet e

{ “‘? ”@

ki

maﬁug@%mﬁaﬂﬁmﬁﬁnﬂxﬂm
W@iﬁ‘ﬂ?{ﬁ?ﬂl

£ 2y

SR S % Tl ¥ Frafefa ¥ @ 2 g
wE e ?

(1) (A) 9 T, TG (R) Ter 2
(2) (A) T T, TG (R) T F

(3) (&) W R) I W& ¥ i (R), (a) T
Hﬁwm%l
Eud

i fn fﬁéw o et T R
oft 2

(1)

@) 1854

(3) 1849

4) 1851

1894-95 aﬂnm 05 H ST =1 for il &

R2
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n below are ty,
e O statements - One is

abelled i Nenehivn (A) and the o

on (R)- ther as

-Reas

Assefﬁ‘m (A) :

e effect of the discovery of goldfields j
yictoria, 111 1852 was that 4 great of

fee pon-convicts from Euro
ato Australia.

stream of
Pe began to flow

Reasont (R) :

To Prevent any further introduction of

undesu‘able convict immigrants, the

Legislature passed Convicts Prevention Act
n 1852, in Victoria.

fn the context of the above statements which
of the following is correct ?

(1) (A)is true but (R) is false
@ (A)is false but (R) is true

(3) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

. In which year the Meiji Restoration or Meiji

Revolution took place in Japan ?
() 1868
@ 1871

) 1854

4) 1862

EyFE

WTHis-2023 E%%

hh

81.

82.

35

T o g o §, T A (8)
T (R) 35 w0 F ggi T

AT (A) :

= 1850 3 i & T R wEE G H
T T8 o fF 07 @ @gd He H
(non-convicts) =Afer et =l T |

hIUT (R) :

N A F forn AR (FauE-gan) A
T 1852  <hefoERE fyeer TR W
e

Eﬂrﬁaﬂa‘ﬁaﬁ%ﬁaﬁﬁﬁmﬁf@ﬁﬁ@rzﬁﬁw
T 7?2

(1)
(2)
(3)

(A) T 2, 9 (R) T |
(A) T &, TR (R) TRl

(A) 3R (R) 3 T ¥ iR (R), (A)
T = B |

(A) 3R (R) SFT T € R (R), (A)
TE ST T B

(4)

o B o o Tel Y ERITI STE WSl Shifd
B

4y 1868
(2) 1871
(3)
(4)

1854

1862

R2



83.

84.

ivilizati s were
‘In Harappan Civilization exchange :
a precise system of weights,

lated by
- : f a stone called chert and

usually made o oo
generally cubical, with no markings.

In the light of the above statement what do

the Harappan weights indicate ?

(a) Lower denominations of weights were
binary.

(b) Higher denominations followed the

decimal system.

Smaller weights were probably used for

weighing jewellery and beads.

Metal scale-pans are missing from

Harappan sites.
Choose the correct answer from the code

(©)
(d)

given below :

(1) (@) (b) and (c)
(2)  (b), (¢) and (d)
(3) (a) and (b) only
(4)  (a) and (c) only

Consider the following statements about the
revolt of 1857 :

Assertion (A) :

Bahadur Shah was recognised as the
Emperor by all rebel leaders. Coins were
struck and orders were issued in his name.
Reason (R) :

The merchants, intelligentsia and Indian
rulers mostly not only kept aloof, but actively
supported the British.
Select the correct answer from the code given

below :

(1) (A) is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, and (R)

explains (A).
Both (A) and (R) are true, but (R) does
not explain (A).

4)

B3E
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84.

mﬁﬁﬁﬁﬁ,ﬁﬂﬂ@ﬁ:ﬂi%ﬁ‘m@gm
s & ofR eTHaR W e ’ﬁﬁﬁﬁqﬁa%

TR e o 1

??
13l & e amee fg-smur )

(a)

(b) S AFIES TEEET JONCH T STTHR 55y
Of

(c) DI aIEl o W Her: S R T
%1 drem & ferg feman s e

(d) TSUE Tl A U1 W T S h IS T
firera €1

1= fu TTT e | WE ST 1 =TT I :

1) (), (b) ¥R (o)

@ (), () 3R (d)

(3) e (a) N (b)

(4) FE (a) 3R ()

1857 = fagre & s # fr=fafad w2+ € faar
HIfTT

TR (A) :

[t faiEl Famstl 7 FRIGT e T A9 qUE
AAT 3k 1 ¥ 95 @l U 3R ey S
fFg M|
& (R) :
SRR AN, fagMl iR 9Rd =i 3 T
heldl 94 i ST @, 3t = fafesi &

Hishd &9 9§ Tean foean)

(1) (A) W&l & iR (R) 7o T

(2) (A) 7o 7 SR (R) W& 2

(3) (A) 3R (R) 3 W ¥ &R (R), (A) F
T FAT B |

(4) (A) iR (R) 3 & ¥ RhY (R), (A) F
STEAT TR Hial ¢ |

R2



£ (4 (a), (b) and (@) only

-F:;HIQ AnnA %

2-4years old (Balyaiycy

3-6years old ( Ang —

Balvatika) di/Pre-School/

© 4 - 8 years old (

@

elect tanswer from the code given
pelow

1) () and (c)
@ () and (d)
() (a) and (b)
@ (@ and ()

Class 1 anq 2)
6 - 8 years old (Class 1 and 2)

In NEP 2020 the responsibility of Early | 86.

Childhood Care and Education shall be
delivered through which of the following
Early Childhood Education institutions ?

Stand-alone Anganwadis

Anganwadis co-located with primary |
schools

with existing primary schools
(d) Stand-alone pre-schools
Select the correct answer from the code given

below :
1) (), (c) and (d) only

@) (), ®), () @
B) (a) and (b) only

Pre-primary schools/ sections co-located |

|
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85. A e iy, 2020 =T Heaform 3= H, TR

R o o & 1
TR YT ¥ 2

(2)
®)

2- 494 F Y (SATETATH)

3.6 ad 5t 39 (ermEenEy/W-Tg/
EIGEIEC))

(€) 4-8ad = 37 (Fem 1 AT 2)
&) 6-8 a9 = 3y (FE 1 AL 2)
) faw o e & W s A FHIC

(1) (b) W (9)
A2 (o) 3 (Q)
(3) (a) 3 (b)
(4) (a) #R (9)

T e i, 2020 H YR SeaTEE SEETE
i e veM O 5 fomer frefartea 5 4
g Tifyer sTeaTaen e S % eEE 9 T
T2
(a)

(b)

iy faameri & e e sTimmanteal

(¢ wd-wufns foereEl /adam wates

formerdl & @y feed stenteat
(d) SRR Il T E-mafE ToErer
o o T e W W IH AT I -

(1) e (b), (o) 3R (d) S
2 (@), ) ) @

(3) e (a) 3 (b)

@) e (@), (b) T ()

R2



87.

88.

Consider the following statements :
Assertion (A) :

The amara-nayaka system was a major
political innovation of the Vijayanagara
empire. The amara-nayakas were military
commanders who were given territories to
govern by the raya.

Reason (R) :

The contingents of the amara-nayaka provided
the Vijayanagara Kings with an effective
fighting force. :
Choose the correct answer from the code
given below :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, and (R)
explains (A).

Both (A) and (R) are true, but (R) does
not explain (A).

4)

Consider the following statements :
Assertion (A) :

The Civil rebellions began as British rule was
established in Bengal and Bihar. From 1763-
1856 there were more than forty major
rebellions apart from hundreds of minor
ones. Sanyasi rebellion was the first to rise
up.

Reason (R) :

These almost continuous rebellions were
massive in their totality, but were wholly
local in their spread and isolated from each

other.
Select the correct answer from the code given

below :

(1) (A) is true and (R) is false.

(2) (A) is false and (R) is true.

(3) Both (A) and (R) are true, and (R)
explains (A).

(4) Both (A) and (R) are true, but (R) does

not explain (A).

ElZE
PGT-HIS-2023 S

38

87.

88.

Freferfad U R foem #ife .

atfuere (A) :
am—qma?wﬂnﬁﬁﬁwwmaﬁ@%
i @ret ot | W—Wﬁﬁmma
fo 777 g1 IRIEA o fere T asrﬁ;qma‘

@ (R) :
W—Wﬁ?aaﬁﬁﬁ'ﬂ"ﬂﬂmiﬁ@;

guyret e wiferm W@ L A |
= fau 7T Fe ¥ TE T H I RIS ;

(A) TE % fohg (R) TTerd B

A) ToId ¥ fahg (R) 92 B

(A) 3 (R) < wE ¥ 3R (R), (A) %
AT HAT 2 |

(A) 3R (R) Ff @&t € f&hd (R), (A)

ST el hidl o |

Frfafaa sl w faur S :
AFHHRYT (A) :

e IR foer # fafes wem ar] 2 &% Wi &
5 a5 3% 81 T 1763-1856 % HHal Sle-
B faERl & o Iwig ¥ afys a2 fagis

T FEgeH S fage gei |

(1)
)

(4)

eh (R):

3 AR B 9 fagie gietifsr 3= =19 9,
e IR thalld T o1 3R ¥ Ush-gEl ¥
YUE 9 |

i< fET T e | W& IT HI TIF HiC

(1) (A) ¥& € 3iR (R) Tord § 1

2) (A) T § R (R) WL 7 |

(3) (A) 3R (R) S T ¥ &R (R), (A) F
A A § |

(A) 3R (R) 3T T ¥ g (R), (A) F

ST el hial © |

4)

R2



[ i
2

(@)
(d)

ET‘HIS-zozs

(0

| ncient inscriptions ape usually dated in
ﬁ" ,egf‘a_l yeal‘s_ OrT eras, Many different eras were
i ancient and early medieval Indja
e light of the above .
% following statemeny,
The Kalachuri -
(a) 248 CE.

B iy

$tatéments which of
S%’hrgjcorrect ?
Chefl‘i:- era starts from
The Gupta era starts From 319-20 CE
The Chalukya - iy ! .
used in the ingcyj

(v)
©

era of 1076 was

e Ptions of Karnat
and adjoining ares§ T e

@ The I.<01¥a1' era of 824 was used in the
inscriptions of Kerala ang adjoinin
parts of Tamil Nady. ;
'~ Choose the correct answer from the code
given below :

Childhood Care and Edg_c;;}__t_ion curriculum
in NEP 2020 will be carriéd out by which of
the following Ministries/departments ?

Ministry of Education (erstwhile HRD)

(b

)  Women and Child Development
(©).

Health and Family W eyare
Tribal Affairs -7
Select the correct answer frpm the code given
below :

(a), (b) and (c) only..-
) @6, @@
) (a) only e
4) (a) and (b) only

2

Elu:‘

sl »

2

|
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90.

89. WISl sy 4 s T A 7 M HI

S g o T Sl S HEARE
TR 3 o5 gyt el o1 ARt fefel T #A

sqﬁaﬁﬁﬁﬁaqﬁﬁwﬁ,ﬁﬂﬁ—rﬁﬁﬂﬁﬁ@ﬁ

A o Wl H/E? |

(a) - aq 248 WE H I B
T

(b)
(©

T[S <hIeT Gerd 319-20 2, A AT TR
1076 2 =eqer-fershe mmuﬁrﬂm
3R s % aF ¥ el § R
|

824 ¥ Frear Tor 1 FAT FE AN
e 3 eraara A % sfwerdl A
Tora T )

ﬁﬁqmﬁﬁqﬁmwwaﬂﬁqz

(@)

(1) e (a), (b) 3R ()
) (@), (), () IR (A
(3) e (b)

(4) = (a) 3R (b)

Tt fren ifa, 2020 H wrifies SeaERn @
3R e =Y AN IR FEEE H1 S
Trfafes § 9 foa d@sedi/faarn g fean
S ?

(a) e oo (@ § Ae dueA fae
HAH)

Tfee AR o fomr

() T 3R TRER FHem

(d) ST e

T fEU T Fe | TE N H T HifEQ ;

(b)

(1) e (a), (b) ¥R (o)

_er @) ), © @

(3) I (a)
(4) 9 (a) 3R (b)

R2



91, Tt faem Hfifq, 2020 1 WA TR g
mﬁﬁm@%mmﬁnmmmm

91. NEP 2020 aims to achieve universal
foundational literacy and numeracy in

primary schools by : HE? “j /
(1) 2028 (1) 2028
3030
(2) 2030 e - oy
(3) 2024 (3) 2024
(4) 2025 (4) 2025
92. Which of the following National Assessment | 92. T faem #fifdq, 2020 g fWEﬂT. LEISCHGCR:
Centres for school education is proposed to e A faem Haed) o Siard Whall e
be established as a standard-setting body & fou = HHE-Tuies o % ®9 3 5y
under Ministry of Education (Former MHRD) UL eich % I T H o1 T €2

by NEP 2020 ?

(1) NAS (1)
(2) NTA (2)
(3) PARAKH

(4) SAS

93. The decline and the fall of the Roman empire | 93. T 'Q:UE T Tid 3% & 9T THRR 6l

in 1776 was written by : 1776 % forg amdt & -
(1) Edward Gibbon (1) u=EE fiesH

(2) Voltaire (2) dEER

(3) David Hume @) =fae Tm

(4) William Robertson @) ﬁrzl%mn RACCASE]

94. Which of the following sites is known with | 94. ﬁ'l:[f?fﬁﬂ'd 'ﬁ A H W W TR THEE & veH
first ever evidence of canal irrigation ? 5

(1) Dholavira
(2) Shortughai
(3) Harappa

)

(4) Mohenjodaro

El¥EE
PGT-HIS-2023 54 40 R



Arl'a“ge the f()ll()w

t
Pn-e in Chll:)rm'_log1 & stages of the R

Order A
A Principate
0 Ky
i) Republicy.”.

=

() Late emp;.re“

(1) (), @), (u) (lv)
@ @ (i), Gv), (i)
@ @), (1), @), (i)
(@ (@), @), (m) (1)

Eastern bank of Euphrates River .

Westem%ar& of Euphrates River
Eastern banl( of Tigris River

Western bank of Tigris River

9. The inscriptions with evidence of Indo-
European language from Roman areas belong
‘o which of the_ fo"llowmg century ?

(1)
)
()
4)

1400 BCE

21 00 BC:;EIIE?'::__;E-E

1900 BCE ™ |

ey =y E
@GT-H'D Anem— rﬁﬁ

41

95.

96.

97;

VT wry w7 frofafad eraenst &)
IR Srafeer HIfT, :

© e

(i)  Tror=

(i) St s

(iv)  sTezme et
%ﬁqmg@qﬁmﬁ%ﬁq:
(1)
(2)

B)  Gv), @), @), (i)
AET (W), (iv), (i), () °

(i), (@), (i), (iv)
(@), (i), (iv), (i)

e Wi erifen =1 v R o, S fea

(1) Ihed T &% gEi 9 W|
(2) TheH 7R % i w2 W)
(3) <EUE T % T 92 W)
(4) <EUE S & uiyEd @@ W

9 < &0 o Teg-gUda st yo oy ot s1fiera

frrefafea # ¥ fFa ot @ wafam §2
(1) 1600 < %
(2) 1400 =t & ¥
(3) 2100 & ¥
(4) 1900 = T

R2



98.

99.

100.

Arrange the following Harappan sites in | 98.

order of their beginning of excavations.
(i) Lothal

(i) Kalibanga

i)
(iv)

Choose the correct answer from the code

Dholavira

Harappa

given below :

1) (@), @), (i), (iii)
@) (), (i), @v), @)
(3 (@), @), @), (i)
@) @), (i), (), (@)

In which of the following millennium BCE
agriculture became a common knowledge for
food in Mesopotamia ?

(1) 8000 BCE

(2) 7000 BCE

(3) 10000 BCE

(4) 9000 BCE

“There is nothing that we know in pre-

historic Egypt or Mesopotamia or anywhere
else in Western Asia to compare with the well
built baths and commodious houses of the
citizens of Mohenjodaro”.

Who made this statement ?

99.

(1) B.B. Lal

(2) MS. Vats

(3) John Marshall
(4) R.D. Banerji

. BEE
PGT-HIS-2023 Sai
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ﬁmmgﬁqﬁwaﬂwm

ii"ér

== |

B (), (). (i), (i) -

(ii), (i), (iv), (i)
(i), (iv), (i), (ii)
(12)_,_(2)1_(141141)

@)
)
4)

ﬁmﬁﬁaﬂ’ﬁ@rmwﬁﬁ‘eﬁéﬁﬁﬁ@aﬁm

1)
o 7000%&@?
(3) 10000 = @ 3

(4) 9000 it @t £

0. "‘wriifaeiaes foer stoen Ao o as

T H e | oft T IRg g 81 Heese
% Trenfesi = fawme stemi wd gffifa s
@mﬁrwm\”

(1) aﬁa’% w
(2) @gﬁ I
4) SARER. i
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o

51

(1)
)

03.

--(3) She was the wife of Ramagupta
"~ (4) She was the wife of Chandragupta-II

P ol
o

ding to Jain tradition who

wing Kings, TéNounced the world angd

among the

lfarnﬂtaka i
Chandragupta Mayyy,
Bindusara

pimbisara

0)
)

A]'atasatru

puring Saka-Satavahang period exc)hange

of Suvarna to Sjly .
rate ey er Kamhapana in
pece '

) 1:30
o 1: 35
E 110
@ 1:2

T N

Which one of the following statements

regarding the Gupta queen Dhruvadevi is not
correct ?

(1) She was the mother of Kumaragupta

(2) She was the mother of Prabhawati -
gupta

101, %qm@nﬁwﬁv‘ﬁaﬁﬁ@mwﬁm
S (- v el T A R e;:
STIFT quﬁ:ﬁzzﬁa? T T W
T

A =
(2) forgar
@) fefEmm
(4) My

102. et et et o Gl o6 Tord
A fafrm = e o -

(1) 1:30
?) 1:35
3) 1:15
4) 1:20

103. = T et & wed § Frefatead § 9
FHIT-T Ho W A € 2

|

(1) 9 HARTE 1 = o

l% (2) o FHTST e hi Hi o |
I
I

(3) % WS i T o |
(@) &I« fgdra =i g o)

evidence of horse from the first half of the
second millennium BCE ?

(1) Banawali
Piraq
Harappa

@) Mohenjodaro

; m . .E
“H1S-2023 E%

0. Which of the following sites has produced | 104. Frefofon ® @ forg wow TE EETea)

o W T F I W S % A ey ¥ 2

43 R2



105. Onwhich of the following Asokan inscriptions

106.

his personal name AsoKa occurs ?

(i) Gujarra

(i) Maski

(i) Nittur "

(iv) 'Udegolam

Select the correct answer from the code given
below.

(1) (i), (i) and (iii) only
(2) (@), (i), (ii) and (iv)
(3) (i) only

(4) (i) and (ii) only

In the Allahabad Stone Pillar Inscription who
among the following is/are mentioned-as
“Mahadandanayaka”.

(i) Dhruvabhuti
(i) Hastivarman
(iii) ‘Tilabhatta

(iv) Vyaghraraja

105.

Choose the correct answer from the code
given below.

(1) (i) and (iii) only
(2) (i) and (iv) only
(3) (i) only

(4) (i) and (iii) only

|

v

s 3 o S 88 oy,

T T ST TR W € 2

%) ECUIGL

g |

a2y ), ), (i) )
(3) he (i)
(4) e (i) S ()

106. Fretfaraa ¥ & wHi-3ARER- TR WY g §

‘eEuedEE’ & F9H aftid 7/T)

@ gt
@) wfseEEd
(i) TaerE

(iv) =S

i g8 7T 2 il HEEd § Tl S| H 7
ST |

(1) e (i) 3 (i)

(2) =HIA ({) 3R -(iv)

(3) e (i)

(4) FE (i) R (i)

The Brahmayajna included in the list of five | 107. ¥ werR ¥ wfmfew serm =1 awd

107.
Mahayajnas signifies :
(1) The study of Vedic lore
(2) Giving fruits, roots and food to ;
Brahamanas everyday
(3) Sacrifice in favour of Brahma
(4) Meditation on Brahma, the ultimate g
reality ;
ElZE
PGT-HIS-2023 534
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e Tiell w1 e
Ffafeq seHvl i - T e

(1)
(2)

9= &+ fauag
(4) THTE F= H A



e ; G th
m fecitEd In publjc for : 5 ahabharata
.'-_':_-DcCﬂSion of great sacrig; © tirst ti

1Ce helq by

Wag

1 (1) ang ]anamejaya :

4

King Bharaty
King Yuddhisthira
Kj-ng Parikshita

which place ?
Vaishali
Sravasti
Varanasi

Kapilavastu

10. Which of the following texts gives evidence

of the prevalence of polyandry in early
societies ?

() Ramayana
Mahabharata
Buddhacharita
(iv)

Choose the correct answer from

Divyavadana

the code

108, e

%%q?;qgmw%@%%
AR
aﬂ%ﬂia: WWJW"W%

D) o Svivery
) T g

®) Afafir
@ T v

109,
%%WWmeﬁﬁm
I W x fopy o2

OB il
427 e

(3)  Imrow

4) Hiuee

110. ﬁmw@aﬁeﬁﬁﬁwmmﬁa@ﬁ
T hT THIOT YT Bl & 2
(i) TEE
(i) TRIRE -
(i) IS
(iv) Te=amERm

9 fedt T FE R TEE W FE IW H =T
HIC :

|

given below :

(1) (), (ii) and (iii) only
@) @), (i), (iii) and (V)
®)
(4

(i) only

(i) only

. 3E
&QT‘“'Q Annn %

| o FEa8 AR (i)
@) (), (), (i) 3R (iv)

R2




111.

111. Which of the following inscriptions mentions
the Mahabharata as a Satasahasri Samhita ?

(1) Khoh Copper-plate of Maharaja
Sankshobha, Year 209

(2) Khoh Copper-plate of Maharaja
Jayanatha, Year 177

(3) Khoh Copper-plate of Maharaja
Sarvanatha, Year 214

(4) Khoh Copper-plate of Maharaja
Hastin, Year 163

112. The relics of Sariputra and Mahamoggallana,
the disciples of the Buddha, are said to have

been placed in :

(1) Amaravati Stupa
(2) Bharahut Stupa

(3) Sanchi Stupa No. 1
(4) Sanchi Stupa No. 3

113. Who among the following expounded the
concept of Wahdat al-Wujud (Unity of Being) ?
(1) Aljunaid
(2) Al-Ghazali [
(3) Ibn al-Arabi
(4) Al-Mamun i

114. Which of the following are Jain sects ? 114.

(i) Mahisasaka

(i) Vatsiputriya

(iii) Kurchaka

(iv) Yapaniya

Select the correct answer from the code given
below :

(1) (i) and (ii) only

(2) (iii) and (iv) only

(3) (i) and (iii) only

(4) (i) and (iii) only =

cH[E
PGT-HIS-2023 556 46

112.

113.

ﬁﬂﬁ?@%wﬁaﬁhm%?%%
) mn&ﬁww@am,a@m

) RS ST <Al Tle Ty, T 17,

o) mmumaﬁ%m,qﬁm

(4) HeIIS mm@ng o4 163

%ﬁﬁmﬁﬁ?@@w%w%
(reﬁcs)ﬁﬂﬁfﬁﬂﬂﬁﬁmmqﬁmg?

1) EREdt w9

(2) ¥Rgd w4 '
(3) HiEl WU €E&A1
(4) Ei= WY HE3

Teq STA-INE (THE) F STTHRN F Thiges
HH 9 ? _
(1) -

(2) AT

() T HAA-3IWE

(4) ST-Ard

freafafas § @ #5959 worm §2
() HErRTEE

(i) ey

(iii) ik

(iv) 9™

A 3 T e %t wewEa ¥ W@ SR B
aﬁ'ﬁﬂ'q i

(1) = (i) 3R (i)

(2) e (iii) &R (iv)

(B) e (i) 3R (i)

4)  Faa (i) AR (i)

R2



puddhist text Niqqeg '

d' - % B,
Ghosundi Mscription, ¢

)] £ K

(iii) Nanaghat cave inscl'ipf:l

) Coins of AgathDClese

(r

.

Uhbema.
S

gen below : =

o () () and @) only
@ @) () (i) and Gv)
() (i) and (ii) only
() (@) and (i) only

1 Match List-I with List-II aI:l_‘d:select correct

S<508 Sarvatata

~;___--‘!. e
:_ c%n}of Naganika

?E};m the Code

answer from the code givenbelow.

List-I £33

(Inscription)
() Mathura Pillar
Inscription of fo 3
Chandragupta-II *
() Sanchi Inscription of (i)
Chandragupta-II

() Mandasor Inscription (iii) Pasupata

of Kumaragupta-I

(@) Kahauma Inscription ¥(iv):
of Skandagupta ==

Code B

@ ) (©

0 @) @) @) 0@

@ @ @ @)

B 6 @ @) 6 %"

O @ @ @

"5..,'. X E . ..E]_
i%ﬂ'srzoza ek

List-II

Baudha

Saura

115.%.&.&.&“@@@3@@%@

A W wrefraras s SRifafE A €2

()

g vy fRy

(i) TN wekar o Sl bR
(i) TRt = AT TR O

(iv)

ettt % faeeh

A fw ) e = werrn § wWE ST A T
whifera .

(1)
(2)
®)
(4)

el (i), (i) 2N (iv)
(i), (i), (iii) 2 (iv)
heret (i) AR (i)
here (if) 3T (i)

116. F-1 1 Geii-11 ¥ Fafer hiterg, a0 = a3

U %2 i T & el A H =TI I |

(@)

(b)

©)

(d)

e !

(1)
(2)
(3)
(4)

-1

(etfera)

Ta-Tgda weE ()
T WY @

I
(gH)
C

TEE-TEda wEE (@[) S
Tt sfuer@
FHRTT-TH HTe
HeER S
WA I HeH
sAfiet@

(i) R

(iv) ER

(@ (b) (9 (d)
(i) @) @) @
@) @ (v) (i)
@ @) G @)
@ @ @@ @

" 'R2



117. Who among the following was the earliest
woman sufi in India mentioned in
Akhabar al-Aklyar ?
(1) Bibi Sara
(2) Bibi Rasti
(3) Bibi Fatima Sam
(4)  Bibi Sharifa
118. Match List-I with List-II and select the
correct answer from the code given below :
List-I List-1I
(Writer) (Sufi Work)
(a) Abdul Haqq (i) Fawaid
Muhaddis Dehlawi al-Fuad
(b) Amir Hasan Sijzi (ii) Siyar al-Awliya
() Hamid Qalandar (iii) Khair al-Majalis
(d) Amir Khwurd (iv) Akhabar al-
Akhyar
Code :
(@ (b (¢ (4
1) (@v) @) @) (i)
(2) (@) @) (@v) (i)
3 (@(v) @) @) (i)
4) () G) (@) (iv)
mzm
PGT-HIS-2023 E3 a8

117 ﬁﬁ%ﬁﬂﬁﬁﬂﬁ‘\’@[ﬁfj M% i
) ﬁfﬂ
P 5 ) Ll
(4) Eﬁ%%q;'
b ukarhkhial U
.g?ﬂ'—l TE-11
(vEh) (T ey
(a) oTgd ﬁﬁ:@?ﬂ ({) IR -y
.y Sifern
() wHig W?TTf (i) B TA-TIer
@ ot (iv) ¥HEER o7a-
FHEIR
C
@ ® @ @
1) @) (m) M ()
@ (mi@u) () ()
(3) (w)ﬁ__@) (it)) (i)
CING) =_(u) (iti) ~ (iv)
g i
il




119, a1 3 st areg ) TR A

7 T
TR X ey o e 0 1 G-I 19T

i ir
e i e | TUZ ey i e SR
e fw;n © code given below the Jists O ¥ w3 A
List- .
List-11 11
e (Region) i ®) o)
@ i ()  Rajastt ( ¥isg )
Mugaddams J35than () i ik TFEH @) A
Satarahi and " _
(b) st ()  Gujarat (b) > ot freat () T
i/Bhumia
o Bty () Dosp
@ Banth/Vanth (iv) Aw;dh ((:1) ﬂi?'ﬁ:r/ 1;77’7‘72;; (1'11) ff;l?
Code : ) ¥3/d3 (iv)
(a? ((b)) ('C) = b (@ () (9 (d
o @ o0 @ s haees
R T o 0
o (Tr) ! - . @) @v) () @) )
@ @@ @) @) @ Vgl R
n. A rapid courier system established by | 120, TS T g1 TN gd Rl Ui =i el Sl
Chengiz Khan was known as : o -
(1) Qubcur P
2) Yam 2 = |
(3) Gerege (3)
(4) Anda 4) sig
1. Who among the following compiled Dadu’s | 121. fr=fafed § ¥ fhem g & ol IR wiaaed,
hymns and poems known as Banis ? 5 1 et Tl §, w1 Hehfera o 2
() Tila Jat (i) foen s
() Mohan Daftari () TR TR
(i) Rajjab Das (iid) WW -
(v) Sundar Das the younger (v) R T IR
Choose the correct answer from the code e fou MY e Y & SW H =T H HifST .
given below :
men v /m/ﬁﬁa (iif) 3T (iv)
(iii) and (iv) only SR _
@ G G G ; (2) (i), (i), (iii) 3R (iv)
? (), (i), (ii) and (iv) ot
(iii) only ]
4 (iv) only (4) Had (iv)

| .
T 2023 (5

49
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122. Which one of the following statements about
Vallabha sampradaya in the Mathura region
is NOT correct ?

(1) Radha was made predominant in
Vallabha system by Vitthalnath
(2) Vallabha established a centre at Gokul
where he gathered a group of singers
and poets known as Asht-clihap
(3) Vallabha established Srinath temple at
Govardhan Hill
(4) Vallabha almost ignored Radha
123. Who among the following was the first
Mongol II-Khanid ruler to convert to Islam ?
(1) Jochi
(2) Guyuk
(3) Ghazan Khan
(4) Qublai Khan
124. Assembly by Mongol chieftains was known
as:
(1) Ulus
(2) Tama
(3) Quriltai
(4) Qa’an
125. Who among the following travellers mentions
‘Mahanavami Dibba’ as “House of Victory” ?
(1) Nicolo Conti
(2) Fernao Nuniz
(3)  Domingo Paes
(4) Abdur Razzaq
El3E
PGT-HIS-2023 ﬁﬂﬁ

|

A 4

mﬁa‘&ﬁﬂﬁm%ﬁﬁﬁ "
122. gmmﬂﬁ%"f%? ﬁf?%rﬁgaﬁn
1 forgarnel 3 Tl W H T 3
) T
) e A WG H TH F5 A Ty o
el IR 7% BT F T H Ay s
#iR i 1 TH T8 THA fohm
el

_m/awﬁﬁﬂmaﬁm: 3987 =T |

123. Frerfafed § @ s oH 1 ST =1 w7y
Hire ge-@TT AR i o1 ?

1) S
(2) TI*
3y T @
(4) FoeE @M

124, el TERI 1 9IS 1 T Sl AT o1 2

(1) S
(2)
BT e

(4) ThIAN

125. Fretfafad § ¥ frg ant 3 ‘werad fes' #
‘oo 1 o' FE1 R ?

(1) Trepral =t
(2) At i
Ay i wrew

(4) ST TNH
R2
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dia the postal syge, ;
5._*111e 11c,fse-post called ki s of two kinds,

ofses statloned at a diStan by TO}’al
h

ce of
1 The fOOt—post ha @Very four
s called dawa, thay ; s per
7  that is one third of 5

frlileﬂ ’
ity e TOTEON v

() Francois Bernier
pDuarte Barbosa
Al-Biruni

Ibn Battuta

)
¢

Consider the following statements :

0) HamglLIs e t.iny hamlet grew around
the Pampapati temple on the southern
pank of Tungabhadra.

(i) The town of Anegundi formed the
northern outpost of the city of
Vijayanagara while Kampli was its
easternmost outpost.

(i) The town of Hospet was built by
Krishnadevaraya in honour of Nagala
Devi and named after her Nagalapura
which remained his favourite residence
all through.

(iv) About the roadway between the inner
citadel at Hampi and the suburb of
Nagalapura, Domingo Paes records
that it was ‘a street as wide as a place
of tourney with both sides lined rows
of houses and shops.”

Choose the correct answer from the code

given below :

(1) (i), (iii) and (iv) only

@ @), (i), (iii) and (iv)

() (iv) only

) (i) and (iv) only g

51

ki

Ui A Rt e HIfC
(1) g affer

(2) oI @

(@)  oTA-wE

A4TES =

127. Ffafea ol w fa=m I :

() e v 3 afeit e TR T

it 3 araTE = T P H A ¢
@) AT TR fawETR W H S il
<t ot <l e g e e
ot |
(9 At e w1 e e 3 A

[ F gIE F HA A AR SHHT AH
EZIE RGN

7t 3 icfien ol SR AR ST 5
o wew TH ¥ AR § SN T a7
o e & T o A s wiveor
w0 A TE T A TH o forwe
Eﬁ'!,

= fau T e § WE W A TAT hifIQ :

(1) e (i), (i) R (i)
@ (), G) (i) T )

By e (i)
(4) e (iii) 3R (iv)

R2



128. “In India a village must be very small indeed
if it has not a money changer called a shroff” .
Identify the narrator-traveller.

(1) Jean Baptiste Tavernier
(2)
3)

(4)

Sir Thomas Roe
Duarte Barbosa

Ralph Fitch

~

Shah Jahan openly favoured his eldest son
Dara Shukoh. At the cost of 32 lakh rupees
more than the Mughals had ever spent on a
wedding the royal family put on such
spectacle. According to European observer,
the awe inspiring firework display stretched
half a mile across the Agra sky. Identify the
observer.

129,

(1) Peter Mundy
)
)

(4)

Jean Baptiste Tavernier
Francois Bernier

Jean de Thevenot

Which one of the following missionaries was
sent by the Portuguese to propagate

Christianity in Bengal ?

130.

(1) Sebastian Manrique
(2)
(3)

(4)

Father Thomas Stephens
Rudolph Acquaviva

John Mildenhall
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¢ e B A 7T RS BN e A Ry
128. ﬁﬁaﬁﬁ%mwm%?@
amgﬁﬁﬂﬁﬁﬁ! 1
i Sfiew iR
129. WESTE A GABL T S T H AR fipey
T 32 @ TYAT 9 AMEH T S TR Ty
et off el @A % W foEre % fayg
guriE # T e g A1, el R @ frg
o | Wk JUUTE Y&k 1 el o T +lig amp
e X T AT F ST H enfavest 5
W7o YA @Rl A Q@11 36 H&Teh i AH =@
(1) HX "o
P dfee dafR
B i afiR
(4) =< offE

130. fr=fefaa 4 § foea fowmd = gdmfedl g@

IS H 3ETE o o THR HT S SIS T 0?
(1) Sefem s
(2) TRIX ATHE SR
(3) TSIw wEEIfan
AE) S et
R2
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PART - VI
g GENERAL ENGLISH
1. Fillin the blank in the g _ -
13 the help of given Opticiilsogl:ig sentence with
e train was aly i
;If:; LY Et‘hglit_ 9 lea?‘*&ﬂie station when

(1) reached

136. Choose the option in which the following
words/ phrases have been rearranged to form N
a correct sentence. o AV ot

' (A) people gave wimsnfP

|
if,,v'

I _ T (B) President
(2)  have reached Yt g (C) him support
had reacheq W) (D) him
(4) would reach = (E) having elected
i 1) Q. ®) &), o) ((g?t
. J ::'?Ei i -l B ’ A ¥
132. Choose the option in whfiq'EhLl the followi f?ﬂ (}EXL-(%) ol D) =
sentence has been ¢} : e Johewing @) (A)C), BLE)
s 1anged into passive voice. 4 (B, (D), (©), (E), (A) X
(1)  Tam vexed at his attj,g o’ Directions for question number 137 and 138 :
e. q ;
(2) Iam sometimes vexed at his attitudex | Fill in the blanks in the following sentences with the
(3) ILam vexed by his attitude help of options that follow each of them.
Wm vexed by his at%lgude sometimes. { 137. Can you tell me how the accident _____?
gyt (1) came up
(2) came by
came down
the help of given options. £ (4) came about .
S 138. The witness will what I have said.
133. Nitin as well as his friend%Ra;}esh (1) bear out
coming to the party. % (2) bear with 3
(1) were £ (3)  bear on
(2) have been Rk «4) bear up
% s 139. The troops were ordered to mobilise.
(4) are G S —
Choose the word which is nearly opposite in
134. Today, the need of common man meaning to the underlined word.
just bread and butter. - (1) EORVEng
- - 1 (2)  line up
' (3) retreat
(2) were _dyr—dismiss .
A3 s
(4) are

(140.)He delivered the speech with great aplomb

Which of the following words can correctl
replace the underlined word in the above
sentence ?

(1) apprehension

(2) disquiet -

135. Mrs. Kanwal is ____

schoo
A

2) no article
)

—

3 7 T (8) diffidence B
@ a i Ll {4) confidence «
an —

EE 53 R2
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PART - VI

GENERAL HINDI :

YT HEAT 141 | 143 & T3 frdr .

ﬁw%amﬁwmwm
5 — : : STIRT F97

wumﬁ‘lﬁaﬁﬁ'r&iﬁaﬂmmﬁqﬁm
& 3ol o T e w9 ¥ 9w aed § weon
FAA R ff FHEON T - 5 1y ik 3w
@W%-Ww_m%aﬂmmmﬁﬁm%|
SEA H Shfee wenell § u ww faw w Y fr
ATl S % B N ST SER FAT e 3 4 A
T T | RIS WIS IR O Ey wes 3R
A &l e e
141. fHuFT INFHTTT F Gd T ik et 7

B e ?

(1) I3 g9El i

(2) e yfa =

(3) «fes § 3=fq =t

&y HrE WiE w5
142. TS W HTOM &1 W6 & 98 HE T

(1) =R

(2) difaex T B g1

£ FaFTagl

(4) TREI@g
143. FHEUN T e T 1 FHEON B T8l Hdl € 2

17 59 92 e F St T

(2) I

3) 451G

(4 TIg
144, * o7t %1 TR’ ERR F1 T 1 ¥ ¢

(1) gu=ARR

(2) Tagm =1 gvHA

By @ et

(4) swiq =afw
f

i
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145, Pt & ¥ 5 T oI 7 7 §

(1)
(3) SERE
4) G
146. ﬁmﬁi@ﬁﬁ?ﬁmﬁ Yreg-rH H o
1) wE-9fs
2y T
(3) ER-S
(4) ed-fau=
147. ‘GwE-H TH IR YR B a1’ % T
(1) HIEs
(2) 2 AfEw :

148. o < ol i e | AYS I T :
(1) dm
(3) =Hfd
(4) e
149. Tr=fafea ¥ faof Sy aen o ¥ -
(1) GssH %
A2 SR
(4) TooRa
150. ﬁmﬁrﬁaaﬁq&ﬁwmﬁwzﬁﬂéf%
(1) 7w
(4)
-00o0-
R2



